Standards-based Assessment Bank
4th Grade Fiction

Index to Questions
	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Description

	1
	Reading Achievement Mar 05
	D
	LT 4.4
	One Little Can
	This multiple-choice question asks students to identify who is speaking in this excerpt from the selection.

	2
	Reading Achievement Mar 05
	C
	RP 4.7
	One Little Can
	This multiple-choice question asks students to respond to a question and select an answer that is based on information from the selection.

	3
	Reading Achievement Mar 05
	C
	LT 4.3
	One Little Can
	This short-answer question asks students to identify the major conflict or problem as one plot event and then to identify its resolution or the future event that is connected to it.

	4
	Reading Achievement Mar 05
	A
	AV 4.2
	One Little Can
	This multiple-choice question asks students to determine the meaning of a word based on the context of the sentence or sentences given.

	5
	Reading Achievement Mar 05
	A
	LT 4.1
	One Little Can
	This multiple-choice question asks students to explain a characters actions, thoughts or deeds.

	6
	Reading Achievement Mar 05
	E
	LT 4.5
	One Little Can
	This multiple-choice question asks students to identify the theme of the selection.

	7
	Reading Achievement Mar 05
	B
	RP 4.5
	One Little Can
	This short-answer question asks students to make an inference based on information in the selection.

	8
	Reading Achievement Mar 05
	A
	AV 4.1
	One Little Can
	This multiple-choice question asks students to select the synonym for the word confirm from the answer choices given.

	22
	Reading Achievement Mar 05
	C
	RP 4.7
	The Wag-o-Meter Study
	This multiple-choice question asks students to identify the specific place in the reading selection that contains information about the name “Cabbage”.

	23
	Reading Achievement Mar 05
	B
	RP 4.4
	The Wag-o-Meter Study
	This extended-response question asks students to use the literal information to complete the chart with plot elements and come to a conclusion based on the data they have received.

	24
	Reading Achievement Mar 05
	C
	RP 4.7
	The Wag-o-Meter Study
	This multiple-choice question asks students to identify the data the narrator finds as a result of the experiment with Ginger.

	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Description

	25
	Reading Achievement Mar 05
	C
	RP 4.7
	The Wag-o-Meter Study
	This multiple-choice question asks students to determine the motivations or actions of the character that is conducting the research.

	26
	Reading Achievement Mar 05
	B
	RP 4.4
	The Wag-o-Meter Study
	This multiple-choice question asks students to identify the statement which represents the main idea of a subsection of the selection.

	27
	Reading Achievement Mar 05
	F
	AV 4.9
	The Wag-o-Meter Study
	This multiple-choice question asks students to read a dictionary entry and determine the correct meaning of the word measure as used in the given sentence.

	28
	Reading Achievement Mar 05
	B
	RP 4.4
	The Wag-o-Meter Study
	This short-answer question asks students to give information about the results of the experiment.

	29
	Reading Achievement Mar 05
	A
	AV 4.1
	The Wag-o-Meter Study
	This multiple-choice question asks students to determine the meaning of the word experiment based on contextual evidence.

	27
	Reading Achievement Mar 06
	A
	LT 4.1
	Tanya’s City Garden
	This multiple-choice item asks the reader to think about Tanya and determine her motivations based on the information the author has provided.

	28
	Reading Achievement Mar 06
	C
	LT 4.3
	Tanya’s City Garden
	This extended-response question asks students to identify events or actions in the order of occurrence.

	29
	Reading Achievement Mar 06
	A
	AV 4.2
	Tanya’s City Garden
	The multiple-choice question asks students to determine the meaning of a word from the selection and then to choose the word from the list that is an antonym for it.

	30
	Reading Achievement Mar 06
	C
	RP 4.7
	Tanya’s City Garden
	This multiple-choice question asks students to make meaning by asking and answering questions about the text.

	31
	Reading Achievement Mar 06
	A
	LT 4.1
	Tanya’s City Garden
	This multiple-choice item asks the reader to make a decision about character traits of Gerald.

	32
	Reading Achievement Mar 06
	C
	RP 4.7
	Tanya’s City Garden
	This multiple-choice question asks students to use reading comprehension strategies to draw a conclusion based in information in the text.

	33
	Reading Achievement Mar 06
	B
	RP 4.5
	Tanya’s City Garden
	This short-answer question asks students to describe how Tanya feels at the end of the selection.



	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Description

	34
	Reading Achievement Mar 06
	E
	LT 4.5
	Tanya’s City Garden
	This multiple-choice question asks students to determine the theme of the reading selection.

	35
	Reading Achievement Mar 06
	A
	AV 4.1
	Tanya’s City Garden
	This multiple-choice item asks students to determine the meaning of a statement that includes an unfamiliar word.

	1
	Reading Achievement May 07
	C
	RP 4.7
	The Parcel Post Kid
	This multiple-choice question asks students answer a literal question.

	2
	Reading Achievement May 07
	C
	RP 4.7
	The Parcel Post Kid
	This multiple-choice question asks students to determine what May’s parents were thinking when they made the decision to mail her to her grandmother’s.

	3
	Reading Achievement May 07
	A
	LT 4.1
	The Parcel Post Kid
	This multiple-choice question asks students to determine why the postmaster acted the way that he did when checking the rule book.

	4
	Reading Achievement May 07
	C
	RP 4.7
	The Parcel Post Kid
	This multiple-choice question asks students to select the correct detail that would best answer the question about the conductor and May.

	5
	Reading Achievement May 07
	A

B
	AV 4.2,        AV 4.4
	The Parcel Post Kid
	In this multiple-choice question, students need to choose a synonym for the word classified.

	6
	Reading Achievement May 07
	A
	AV 4.1
	The Parcel Post Kid
	This multiple-choice question asks students to use what they know about denotation and connotation to learn the meaning of the word.

	1
	Reading Achievement May 08
	E
	LT 4.5
	The Man Who Had No Dreams
	This multiple choice question asks students to select the theme of the selection from the given choices.

	2
	Reading Achievement May 08
	D
	LT 4.4
	The Man Who Had No Dreams
	This multiple-choice question asks students to determine the point of view, or position, from which this story is told.

	3
	Reading Achievement May 08
	C
	RP 4.7
	The Man Who Had No Dreams
	This multiple-choice question asks students to answer an inferential question.

	4
	Reading Achievement May 08
	C
	RP 4.7
	The Man Who Had No Dreams
	This multiple-choice question asks students to demonstrate their comprehension of the text by drawing a conclusion about Mr. Oliver.


	Ques Nbr
	Source
	BM
	GLI
	Passage Title
	Description

	5
	Reading Achievement May 08
	A
	AV 4.1
	The Man Who Had No Dreams
	This multiple-choice question asks students to answer determine the meaning of a word based on the context in which appears.

	6
	Reading Achievement May 08
	B
	RP 4.5
	The Man Who Had No Dreams
	This short-answer question asks students to provide two details that support this summary statement.


BACK TO INDEX
Passage:

One Little Can

by David LaRochelle


Rachel scowled in disgust as she walked to the school bus stop.  The sidewalk was littered with newspapers and candy wrappers.  The front door to Lee’s Grocery was covered with ugly graffiti.


“Yuck!” Rachel said as she brought her foot back to kick a soda can off the curb.  Then she changed her mind, picked the can up, and tossed it into a litter basket on the corner.  She hurried to meet her friends at the bus stop.


Mr. Lee scowled as he looked out his grocery store window.  “Hmph,” he said as the girl passed by.  She’s probably another troublemaker, he thought.


To confirm his suspicion, the girl stepped back to kick a piece of garbage into the street.  What she did next, though, surprised him.  She bent down, picked up the old can, and dropped it into a trash can.


That’s a switch, thought Mr. Lee.


All morning, he kept picturing that girl.  At noon, when he walked to the corner to mail a letter, he noticed the litter that had piled up in front of his store.  He thought of that girl again, then got a broom and started sweeping the walk.


Mrs. Polansky peered out from between the window blinds in her living room.  A crumpled sheet of newspaper blew into her yard and got snagged on a rosebush.  She hated living across the street from Lee’s Grocery.  Customers were always dropping their trash in front of the store, and it would blow into her yard.


Maybe I should write a letter to the city council, she thought.  If Mr. Lee is going to let his store be such an eyesore, maybe it should be shut down.


Just then Mr. Lee walked out his door.  He was sweeping up the trash on his sidewalk.


That’s a change, thought Mrs. Polansky.


A few minutes later, when she went to let her cat out, she noticed that the stray newspaper had unsnagged itself from her rosebush and was tumbling into the next yard.


Mrs. Polansky looked around at her own unkempt yard.


“Well, Fluffy,” she said to her cat, “Mr. Lee isn’t the only one who can do a bit of outdoor spring cleaning.”


She went inside and got her work gloves and a trash bag.


When Rachel got off the school bus that afternoon, the first thing she noticed was the woman planting geraniums around the edges of her front walk.  Hadn’t that yard been strewn with dead branches and soggy newspapers this morning?  Several other yards looked tidier, too.


When she passed Lee’s Grocery, Mr. Lee was out front painting his door.  He smiled at her as she walked by.


Maybe my neighborhood doesn’t look so bad after all, Rachel thought.  She knelt down and picked up a lone candy bar wrapper, slam-dunked it into the litter basket, and sang out loud the rest of the way home.

BACK TO INDEX
	Benchmark:     D
	Differentiate between the points of view in narrative text.

	GLI:                         LT 4.4
	Identify the speaker and recognize the difference between first- and third-person narration.


Multiple Choice Question:

	1.

	“ ‘Well, Fluffy,’ she said to her cat, ‘Mr. Lee isn’t the only one who can do a bit of outdoor spring cleaning.’ ”

Who is speaking?


	A.

	Rachel


	B.

	Mr. Lee


	C.

	Fluffy


	D.

	Mrs. Polansky



	
	


Commentary:

This multiple choice question asks students to identify the who is speaking in this excerpt from the selection. Tracking dialogue is a critical component of comprehension especially as students move into more detailed texts with complex characters. In addition exposure to dialogue in reading will enhance students’ ability to write dialogue in their own work. Following dialogue and understanding which character is speaking is important to full comprehension. Answer choice A is incorrect. Rachel has already gone to school when this statement is made. Answer choice B is incorrect. Mr. Lee is the subject of the speaker’s words. Answer choice C is incorrect. Typically animals only talk in fantasy stories. Answer choice D is correct. Mrs. Polansky makes this statement after seeing Mr. Lee begin to clean up the area around his store.

Performance Data: 

The percentage of public school students selecting answer choice D for question 1 on the March 2005 Grade 4 Reading Achievement Test was 83%.

Keywords:  Point of View, Character

BACK TO INDEX
	Benchmark:     C
	Make meaning thought asking and responding to a variety of questions related to text.

	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	2.

	Why does Mr. Lee sweep the litter in front of his store?


	A.

	Mrs. Polansky tells him the sidewalk is dirty.


	B.

	It is something he does every day.


	C.

	He is following Rachel’s actions.


	D.

	He gets a warning letter from the city council.



	
	


Commentary:

This multiple choice question asks students to respond to a question and select an answer that is based on information from the selection. In this case, they are to identify the reason Mr. Lee begins to clean the area in front of his store. Answer choice A is incorrect. He and Mrs. Polansky have no conversation or interaction about the litter in front of the store. Answer choice 
B is incorrect. The selection says that Mr. Lee noticed his litter when he walked to the mailbox, showing this was something he had just begun to pay attention to. Answer choice C is correct. He noticed the litter because Rachel had picked up a can on her way to the bus stop that morning. Her action prompted his response. Answer choice D is incorrect there is no mention of any city ordinances or actions intended to require people in the neighborhood to pick up litter.

Performance Data: 

The percent of public school students selecting answer choice C for question 2 on the March 2005 Grade 4 Reading Achievement Test was 77%.

Keywords:  Making Meaning, Questions
BACK TO INDEX
	Benchmark:     C
	Identify the elements of plot and establish a connection between an element and a future event.

	GLI:               LT 4.3
	Identify the main incidents of a plot sequence, identifying the major conflict and its resolution.


Short Answer Question:
3.   What is the major conflict in the selection and how is it resolved?

Commentary:

This constructed event question asks students to identify the major conflict or problem as one plot event and then to identify its resolution, or the future event that is connected to it. 

Scoring Guidelines
	Points
	Student Response

	2
	Response contains TWO correct answers to BOTH parts (one answer for a conflict and one for a resolution) of the prompt.

Example:

· The major conflict is that Rachel is sick of the filth of the neighborhood and wanted to clean it up. 

· The resolution of the conflict begins when Rachel starts by throwing a can away; then Mr. Lee sweeps his store; then Mrs. Polansky cleans her yard, etc.

· Also acceptable: Rachel set a good example and others followed/helped.


	1
	Response correctly answers either part of the prompt, but not both. 

Example:

(see examples above)


	Points
	Student Response

	0
	Response incorrectly answers both prompts.



Performance Data: 

The percent of public school students at each score point for question 3 on the March 2005 Grade 4 Reading Achievement Test was:

	Performance at Each Score Point


  0

  1

  2


22%

31%

46%




Keywords:  Plot, Plot Connection, Future Event

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                             AV 4.2
	Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.


Multiple Choice Question:

	4.

	“Rachel scowled in disgust as she walked to the school bus stop. The sidewalk was littered with newspapers and candy wrappers. The front door to Lee's Grocery was covered with ugly graffiti.”

What is an antonym for scowled?


	A.

	joked


	B.

	snarled


	C.

	grinned


	D.

	fussed



	Commentary:

This multiple choice question asks students to determine the meaning of a word based on the context of the sentence or sentences given. Once meaning has been determined they are to show their understanding by selecting the antonym of the given word. Answer choice A is incorrect. Scowl is defined as a lowering of the brow, as in anger or disgust. When one scowls it can be seen on the face.  Joked is not the antonym because it is verbal rather than facial. Answer choice B is incorrect. Snarled has a meaning similar to scowled, making it a synonym. Answer choice C is correct. To grin is a facial expression that is opposite of scowl. Answer choice D is incorrect. Fussing indicates verbal, not facial expression.

Performance Data: 

The percent of public school students selecting answer choice C for question 4 on the March 2005 Grade 4 Reading Achievement Test was 44%.

Keywords:  Context Clues, Antonym


	


BACK TO INDEX
	Benchmark:     A
	Describe and analyze the elements of character development.

	GLI:                    LT 4.1
	Describe the thoughts, words and interactions of characters.


Multiple Choice Question:

	5.

	Why does Rachel sing on the way home?


	A.

	She feels good about her neighborhood.


	B.

	A woman gives her some flowers.


	C.

	Mr. Lee gives her a candy bar to eat.


	D.

	Mr. Lee thanks her for her help.



	
	


Commentary:

This multiple choice question asks students to explain a characters actions, thoughts or deeds. In this case students are to determine why Rachel is singing on her way home from school. Answer choice A is correct. When Rachel exits the bus, she notices that people have begun to pick up trash which makes the neighborhood look better. Answer choice B is incorrect. No one gives Rachel flowers in the selection. Answer choice C is incorrect. Mr. Lee is pleased with Rachel however, there is no interaction between them. Answer choice D is incorrect. Mr. Lee is grateful that Rachel’s actions prompted the spruce up in the neighborhood, but does not share that gratitude with her.

Performance Data: 

The percent of public school students selecting answer choice A for question 5 on the March 2005 Grade 4 Reading Achievement Test was 89%.

Keywords:  Character Development

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by inferring themes, patterns and symbols.

	GLI:                 LT 4.5
	Determine the theme and whether it is implied or stated directly.


Multiple Choice Question:

	6.

	What is the theme of this selection?


	A.

	One good deed can lead to others.


	B.

	A little litter in the street does not matter.


	C.

	Neighborhoods are made of happy people.


	D.

	It feels good to help a friend in need.



	
	


Commentary:

This multiple choice question asks students to identify the theme of the selection. Students that are able to state the overall message of a selection exhibit an understanding of the concept of theme and have fully comprehended what they have read. Answer choice A is correct. Rachel’s action was noticed by others, which prompted their action. Answer choice B is incorrect. Rachel was saddened about the way her neighborhood looked at the beginning of the selection. Answer choice C is incorrect. The people in the neighborhood were happier once they began to keep the neighborhood cleaner, but that is a detail from and not the theme of the selection. Answer choice D is incorrect. None of the characters felt as if they were helping a friend, they saw a neighborhood need and responded to that.

Performance Data: 

The percent of public schools students selecting answer choice A for question 6 on the March 2005 Grade 4 Reading Achievement Test was 77%.

Keywords:  Theme, Comprehension

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas

	GLI:                            RP 4.5
	Make inferences or draw conclusions about what has been read and support those conclusions with textual evidence.


Short Answer Question:

	7.

	How might the selection be different if Rachel had not picked up the soda can on her way to school? 

________________________________________________________________


Give two examples, using information from the selection.


A. ______________________________________________________________

B. ______________________________________________________________



	Commentary:

This constructed response question asks students to make an inference based on information in the selection. 

Scoring Guidelines
Points

Student Response

2

Response contains a reasonable prediction and TWO reasonable examples based on the text.

Acceptable predictions include:

· The neighborhood would still be/remain littered.

· The neighborhood would get dirtier.

· Mr. Lee’s store might shut down.

· Mr. Lee would continue to be mad.

· Others would not have cleaned up their home/yard/business.

· She wouldn’t be setting a good example.

· Mr. Lee would not sweep up the litter. 

· Mr. Lee would not paint the door to his store. 

· Mrs. Polansky would not clean up her yard.  

· Mrs. Polansky would write a letter to the city council. 

· Mrs. Polansky might not have picked up the paper in her yard.

· Mrs. Polansky might not have planted flowers in her yard.

· Rachel might not of picked up the candy bar wrapper in the afternoon.

· Mr. Lee’s store would be closed.

· Several other yards might still be untidy.

1

Response contains a reasonable prediction and ONE reasonable example. 

Example:

(one answer from the list above)

0

Response is incorrect/may contain an unsupported prediction.


	


Performance Data: 

The percent of public school students at each score point for question 7 on the March 2005 Grade 4 Reading Achievement Test was:

	Performance at Each Score Point


  0

  1

  2


67%

15%

17%


 Keywords:  Prediction, Support

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 4.1
	Determine the meaning of unknown words by using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:

	8.

	“ ‘Hmph,’ he said as the girl passed by. She’s probably another troublemaker, he thought. 

To confirm his suspicion, the girl stepped back to kick a piece of garbage into the street.”

What is a synonym for the word confirm?



	A.

Notice

B.

Prove

C.

Raise

D.

Undo


	


Commentary:

This multiple choice question asks students to select the synonym for the word confirm from the answer choices given. Answer choice A is incorrect. To notice means to take note of while confirm means to verify. Answer choice B is correct. Prove is the synonym of confirm. Answer choice C is incorrect. The word raise is not synonymous with confirming. Answer choice D is incorrect. Undo is oppositional – taking apart rather than making stronger.

Performance Data: 

The percent of public school students selecting answer choice B for question 8 on the March 2005 Grade 4 Reading Achievement Test was 50%.

Keywords:  Context Clues, Synonym

BACK TO INDEX
Passage:
The Wag-o-meter Study

by Suzanne M. Baur


I have a puppy named Ginger who likes it when I call her.  But sometimes I call her “Gingy” or “GinGin,” and sometimes I just say “Puppy.”  One day I decided to figure out which name she likes best.


I wanted to be very scientific about discovering her favorite name, so I decided to do a research experiment.  Since Ginger wags her tail whenever she’s happy, I would use it as a tool.  I called it a wag-o-meter.  I would count the number of wags on the wag-o-meter when I called her by each name and measure how happy she was.


Ginger knows her name, but does she know her nicknames, too?  Which name is her favorite?  These are the questions I would answer in The Wag-o-meter Study.

The Hypothesis


A hypothesis is an educated guess about what will happen in an experiment.  What did I think would happen in The Wag-o-meter Study?  I thought that Ginger would wag her tail most when I said “Ginger,” because that’s her real name.  I thought I would get fewer tail wags from Gingy, GinGin, or Puppy, because they are nicknames, and I don’t use her nicknames as often as I use her real name.

The Control Word

But what if Ginger just likes hearing my voice?  I decided to throw in a control word and say it in exactly the same tone of voice as I said her real name and nicknames.  A control word would help me measure other reasons for Ginger’s wagging besides the names themselves.  I picked “cabbage” to be my control word.  Maybe I’d get a few thumps on the wag-o-meter if I called her “Cabbage” just because I would say it as though I was calling her.  But there should be fewer wags than when I called her real name or any of her nicknames.

The Data

Now I was ready to gather the data.  Data is information measured in an experiment, in this case, the number of wags on the wag-o-meter.


Ginger was sitting on the floor.  I sat down on a chair near her.  “Ginger,” I said.  Thump thump thump thump thump thump went her tail.  Six thumps on the wag-o-meter.


“Gingy,” I said, trying to use the same tone of voice.  Thump thump thump thump went her tail.  Four wags.


“GinGin,” I said.  Thump thump thump.  Three wags.  I guess she doesn’t like that name as much.


“Puppy,” I said.  Thump thump thump thump thump thump thump thump.  Eight wags!  That was even more than her real name.  She must really like being called Puppy.


“Cabbage,” I said, careful to use the same tone of voice as when I called her the other names.  Thump thump.  Two wags, that was all.


I said all the words again:  her real name, her nicknames, and the word “cabbage,” but this time I switched around the order.  The wag-o-meter measured the same number of tail wags for each word as the first time.

The Results


Almost everything happened as I thought it would.  I got six wags for Ginger, which was more than the four wags for Gingy or the three for GinGin.  I got only two wags for Cabbage.  But that was a silly word I said to see if she would use her wag-o-meter just because she heard my voice.


There was one thing I was wrong about.  I got eight wags when I called her Puppy.  That wasn’t her real name.  Why did I get eight wags?

The Conclusion

I thought about it for a while.  Ginger knows her name, but maybe she doesn’t always like to hear her name.  Sometimes I say, “Ginger, it’s time for your bath,” or “Ginger, did you chew up my slippers?”


When I call her “Puppy” though, I’m usually holding her and petting her.  The only thing I say with this special nickname is “Puppy, I love you.”  Maybe that’s why she likes it best.

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	22.

	Under which subheading does the narrator explain what she expects will happen when she calls the puppy “Cabbage”?


	A.

	The Hypothesis


	B.

	The Control Word


	C.

	The Data


	D.

	The Results



	
	


Commentary:

This multiple choice question asks students to identify the specific place in the reading selection that contains information about the name “Cabbage”. In this case they are to identify the section title which contains information about calling the puppy ‘Cabbage’. Answer choice A is incorrect. Calling Ginger ‘Cabbage’ was not a part of the hypothesis or question driving the experiment. Answer choice B is correct. The quotation, “I picked ‘cabbage’ to be my control word, under the subheading of The Control Word. This is the first mention of the “Cabbage” and the purpose for using it. Answer choice C is incorrect. There is mention of the name ‘Cabbage several times but the narrator has already given the description of what she thinks will happen. Answer choice D is incorrect. While the name is mentioned here, it is not in relationship to what the narrator thinks will happen, it is in the reporting of what actually did happen.

Performance Data: 

The percent of public school students selecting answer choice C for question 22 on the March 2005 Grade 4 Reading Achievement Test was 53%.

Keywords:  Make Meaning, Questions

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.



	GLI:                         RP 4.4
	Summarize important information in texts to demonstrate comprehension.


Extended Response Question:

	23.   Complete the experiment log to summarize the narrator’s experiment.

Wag-o-meter Experiment Log

Hypothesis:

Procedure:


	Data:                                 Count 1                                      Count 2
Ginger                        ______________                      _______________

Gingy                         ______________                      _______________

Gin Gin                      ______________                      _______________

Puppy                        ______________                      _______________

Cabbage                  ______________                      _______________

Conclusion:
_____________________________________________________________________________________


Commentary:

This extended response question asks students to use the literal information to complete the chart with plot elements and come to a conclusion based on the data they have received.

Scoring Guidelines

	Points
	Student Response

	4
	Response contains a correct answer for each of the four sections of the log 

Example: 

Hypothesis: 

Puppy would wag tail most to word “Ginger”

Procedure:

Call dog by her real name, nicknames, and the (control) word cabbage in the same tone of voice and count the wags for each.

Data

Count 1

Count 2

Ginger

6

6

Gingy

4

4

GinGin

3

3

Puppy

8

8

Cabbage

2

2

Conclusion:

Ginger wagged her tail at the word “Puppy” the most. She liked “Puppy” best.

	3
	Response contains three correct answers.

	2
	Response contains two correct answers.

	1
	Response contains one correct answer.

	0
	Response is incorrect.


Performance Data: 

The percent of public schools students at each score point for question 23 on the March 2005 Grade 4 Reading Achievement Test was:

	Performance at Each Score Point


  0

  1

  2

  3

  4


14%

21%

30%

26%

8%


Keywords:  Plot Elements, Future Event

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

	24.

	What are the data for the narrator’s experiment?


	A.

	how many names and nicknames the puppy has


	B.

	how many times the puppy wags her tail


	C.

	how many times the narrator has to call the puppy


	D.

	how many times the narrator pets the puppy



	
	


Commentary:

This multiple choice question asks students to identify the data the narrator finds as a result of the experiment with Ginger. In this case the narrator uses variables to see how many times the puppy wags its tail as a way of determining which name Ginger likes best. Answer choice A is incorrect. The narrator uses nicknames and silly names to try to get Ginger’s attention, but that is one of the experimental parts, not the data. Answer choice B is correct, the narrator is counting the number of times the puppy wags its tail in response to the names it is being called. This information, the number of wags, shows what the narrator wanted to find out, the name the puppy responded to best. Answer choice C is incorrect. The narrator isn’t trying to count the number of times the puppy has to be called before it will come. Answer choice D is also incorrect. The narrator talks about petting the puppy, but that is not the data that is being collected.

Performance Data: 

The percent of public school students selecting answer choice B for question 24 on the March 2005 Grade 4 Reading Achievement Test was 84%.

Keywords:  Make Meaning, Questions

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking, and responding to a variety of questions related to text.



	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
	25.

	How does the narrator make sure that her results are correct?


	A.

	She does not count all of the tail wags the first time.


	B.

	She uses different names the second time she counts.


	C.

	She changes the order in which she calls the names.


	D.

	She makes sure Ginger is seated for the experiment.



	
	


Commentary:

This question asks students to determine the motivations or actions of the character that is conducting the research. Answer choice A is incorrect. The narrator doesn’t miscount the tail wags the first time through. Answer choice B is incorrect. The narrator uses the same series of names throughout the experiment. Answer choice C is correct, as a way to check her results, the narrator repeats the experiment, but says the names in a different order than she did the first time to make certain the puppy is responding to the name and not the sequence. Answer choice D is incorrect. There is no mention of making sure that Ginger is in a sit position for the experiment.

Performance Data: 

The percent of public school students selecting answer choice C for question 25 on the March 2005 Grade 4 Reading Achievement Test was 74%.

Keywords:  Character Development 

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.



	GLI:                             RP 4.4
	Summarize important information in texts to demonstrate comprehension.


Multiple Choice Question:
	26.

	What is the main idea of The Results section of this experiment?


	A.

	What name the puppy likes the most


	B.

	What names the narrator uses in the experiment


	C.

	What the puppy’s different nicknames are


	D.

	What name the narrator calls the puppy at home



	
	


Commentary:

This multiple choice question asks students to identify the statement which represents the main idea of a subsection of the selection. In this case the student has to have an understanding of the information in earlier section of the selection before being able to accurately answer this question. Answer choice A is correct. The section titled ‘The Results’ has as its main idea concerning what the puppy most often responds to. Being able to summarize and determine main idea in longer pieces of text is important as Grade 3 students come upon lengthier selection in the coming years. Answer choice B is incorrect. The names the narrator uses are first described in The Hypothesis and The Control Word subsections of the selection. Answer choice C is incorrect. The Results section does not discuss the differences in nicknames. Answer choice D is also incorrect, The Results section does not have as its main idea what the narrator calls the puppy at home.

Performance Data: 

The percent of public school students selecting answer choice A for question 26 on the March 2005 Grade 4 Reading Achievement Test was 82%.

Keywords:  Plot Elements, Future Event

BACK TO INDEX
	Benchmark:     F
	Use multiple resources to enhance comprehension of vocabulary.

	GLI:                            AV 4.9
	Determine the meanings and pronunciations of unknown words by using dictionaries, glossaries, technology and textual features, such as definitional footnotes or sidebars.


Multiple Choice Question:

	27.

	“I would count the number of wags on the wag-o-meter when I called her by each name and measure how happy she was.” 

Which definition of measure is used in this sentence?

measure /mÆzh’Œr/      1) n. a set amount of something.  2) n. one part of a piece of music.  3)  v. to tally or count events or occurrences.  4)  v. to find the length or weight of something.


	A.

	definition  1


	B.

	definition  2


	C.

	definition  3


	D.

	definition  4



	
	


Commentary:

This multiple choice question asks students to read a dictionary entry and determine the correct meaning of the word measure as used in the given sentence. Answer choice A is incorrect. The narrator is trying to determine a total amount and is not using a preset number. Answer choice B is incorrect. There is no mention of music as one of the variables of the experiment. Answer choice C is correct. The narrator is keeping record of the number of times Ginger wags her tail using tally marks. Answer choice D is incorrect. The narrator is not trying to find the length or weight of Ginger as a part of experiment.

Performance Data: 

The percent of public school students selecting answer choice C for question 28 on the March 2005 Grade 4 Reading Achievement Test was 47%.

Keywords:  Dictionary, Resources

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	GLI:                             RP 4.4
	Summarize important information in texts to demonstrate comprehension.


Short Answer Question:

	28.
	Which name does the puppy like the most?

How do you know? 


	


Commentary:

This constructed response question asks students to give information about the results of the experiment.

Scoring Guidelines

	Points
	Student Response

	2
	Response contains four correct answers:

Example: 

The puppy likes the name Puppy the most. I know because she wagged her tail the most to that name.

	1
	Response contains one correct answer:

Example: 

The puppy likes the name Puppy the most.

	0
	Response is incorrect.


Performance Data: 

The percent of public school students for each score point for question 28 on the March 2005 Grade 4 Reading Achievement Test was

	Performance at Each Score Point
  0


  1


  2

10%


16%


72%


Keywords:  Comprehension Strategies, Summarizing

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 4.1
	Determine the meaning of unknown words by using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:

	29.

	“I wanted to be very scientific about discovering her favorite name, so I decided to do a research experiment.”

Which word is a synonym for experiment?

A. test

B. data

C. control

D. hypothesis



	
	


Commentary:

This multiple choice question asks students to determine the meaning of the word experiment based on contextual evidence. With that information students are to select a synonym for the word experiment from the choices given. Answer choice A is correct. An experiment is a way of testing things to find out information. Answer choice B is incorrect. Data is collected as a part of an experiment. Answer choice C is incorrect. A control (group, word etc.) is a variable in an experiment. It is not synonymous because it only identifies one small part of an experimental process. Answer choice D is incorrect. A hypothesis is the belief statement that begins the experimentation process. Each of the answer choices for B, C and D are parts of an experiment, not synonyms for the word.

Performance Data: 

The percent of public school students selecting answer choice A for question 29 on the March 2005 Grade 4 Reading Achievement Test was 72%.

Keywords:  Synonym, Context Clues

BACK TO INDEX
Passage:

Tanya’s City Garden 
by Michelle Dionetti

Tanya leaned out her apartment window. She looked down to the cement alley below. The brick walls were old and dirty. The fire hydrant needed paint.

There was nothing good to look at. Tanya sighed and shook her head.

“Look, Ramon,” she said to her brother. “Everything out there is gray!”

“What can YOU do about it?” he asked.

“I’m going to make a garden,” said Tanya.

“In the cement?” hooted Ramon.

“Just wait and see!” said Tanya.

Tanya pulled a plastic rose out of the vase on her dresser. She put the rose in a jar. Then she grabbed a broom and took the vase down to the sidewalk.

The alley between the buildings was filthy. Tanya’s broom stirred up swirls of dust. When the cement was clean, she put her rose in the middle of the alley.

“What’s that?” called Ms. Jones, leaning out of her window.

“It’s a garden!” Tanya called back.

Ms. Jones studied the little flower. “So it is,” she agreed. “If you’ll come upstairs to my apartment, I’ll give you something else for your garden.”

Ms. Jones met Tanya at the door with a geranium in a pot.

“Oh, thank you!” exclaimed Tanya.

Tanya set the geranium next to the plastic rose. While she was admiring her garden, Gerald, the handyman, walked by. Gerald admired the garden, too. A twinkle came into his eyes. He smiled a mysterious smile.

Ramon’s teacher, Ms. Metoyer, stopped on her way home from school. “Very good, Tanya!” she said. “That’s showing initiative!”

Max, the artist, walked by. “What a nice splash of color in all this gray!” he cried.

The next morning, Tanya took a glass of water down to her garden. While she watered the geranium, Gerald came along the sidewalk, carrying something heavy. Grunting, he set it down.

“What a beautiful bench,” said Tanya admiring the red paint. “Thank you.”

Ms. Metoyer marched down the street. Behind her came Ramon’s class. Each student carried something. One of the somethings was a long wooden box.

“May we put this planter in your garden and plant our seeds?” asked Ms. Metoyer.

Tanya clapped her hands. “That will make it a real garden!” she said.

The students put the planter across from Gerald’s bench. They filled the planter with dirt, planted the seeds, and watered them. 

“I have an idea,” said Max the artist. He held a box of paints and a fistful of brushes. “You can’t grow grass here,” said Max. “And you can’t see much sky. I’ll paint you a view!”

With his paints, Max turned the brick apartment walls into a scene of hills and trees and sky. He let Ramon’s class paint in flowers and bugs and birds.

Mrs. Primrose, the florist, came down the sidewalk pulling a wagon. In the wagon was a potted tree, which she placed near the bench.

Then down the street came Miriam Grand, the television executive. Clip, clip, clip went the heels of her shoes. When she came to Tanya’s garden, she stopped with a jerk. 

“What’s this?” she cried.

“It’s a city garden!” chorused Tanya, Ramon, Ms. Jones, Gerald, Ms. Metoyer, Ramon’s class, Mrs. Primrose, and Max.

“It’s a story! ” cried Miriam Grand. “It’s news!”

And away she ran, her heels clip-clip-clipping , to call her office. 

Soon a shiny car and a big van stopped at the end of the alley. Out of the car jumped the mayor of the city. Out of the van jumped a camera crew.

“Who started the garden?” they asked.

“Tanya!” everyone shouted, pushing her forward.

The mayor cleared his throat. The cameras started rolling.

“I present this Ribbon of Honor to Tanya,” said the mayor, “as an award for beautifying the city!”

Tanya took the award in her hand and looked around her. The brick walls were no longer dirty. The alley was clean. The garden was beautiful to look at.

Then Tanya looked around at her neighbors and smiled.

“Thank you, Mr. Mayor,” she said, “but this is not my garden. It’s our garden!”

She hung the ribbon on the fire escape. “So this award is for all of us,” she cried. And Tanya’s neighbors—her fellow city gardeners—cheered.

BACK TO INDEX
	Benchmark:     A
	Describe and analyze the elements of character development.

	GLI:                             LT 4.1
	Describe the thoughts, words and interactions of characters.


Multiple Choice Question:
27. Why does Tanya decide to make a garden?

A. Ramon, her brother, keeps bothering her.

B. She does not see anything good out of her window.

C. Mrs. Metoyer tells her she needs to be more creative.

D. She wants to be on television with the mayor

Commentary:
This multiple choice item asks the reader to think about Tanya and determine her motivations based on the information the author has provided. Answer choice A is incorrect. This is a factual statement that is not a part of Tanya’s character; instead it deals with Ramon’s. Answer choice B is correct. This feeling is what motivates Tanya to begin the garden. Answer choice C is incorrect. Mrs. Motoyer complimented Tanya on her initiative, but this does not play a part of Tanya’s character development. Answer choice D is incorrect. Tanya was surprised by the television appearance and award; she did not expect it.

Performance Data:
The percent of public school students selecting answer choice B for question 27 on the Ohio Grade Four Reading Achievement Test March 2006 was 88%.

Keywords:  Character, character development

BACK TO INDEX
	Benchmark:     C
	Identify the elements of plot and establish a connection between an element and a future event.

	GLI:               LT 4.3
	Identify the main incidents of a plot sequence, identifying the major conflict and its resolution.


Extended Response Question:
28. At the beginning of the selection, the alley is dull and gray. Write four things that happen in the selection that change the way the alley looks. Write them in the order that they happen in the selection.

A. _______________________________________________________

B. _______________________________________________________

C. _______________________________________________________

D. _______________________________________________________

Commentary:
This extended response question asks students to identify events or actions in the order of occurrence. In doing so students are able to see how one event in the selection led to another.

Performance Data:
The percent of public school students at each score point for question 16 on the March 2006 Ohio Grade 4 Reading Achievement Test was:

	Performance at each Score Point

	4
	3
	2
	1
	0

	25%
	20%
	19%
	17%
	17%


Scoring Guidelines
	Points
	Student Response

	4
	Response contains FOUR correct answers.
Examples: 

1. Tanya SWEPT the alley 

2. Tanya placed a ROSE in the 

3. Ms. Jones brought a GERANIUM
Gerald brought a PAINTED BENCH

4. Ramon’s class brought a PLANTER/PLANTED SEEDS

5. Max painted a MURAL

6. Mrs. Primrose brought POTTED TREES


	3
	Response contains THREE correct answers.

Example:

(three answers from the list above)

	2
	Response contains TWO correct answers. 

Example:

(two answers from the list above)

	1
	Response contains ONE correct answer.

Example:

(one answer from the list above)

	0
	Response is incorrect.


Keywords:  plot element, future event

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                             AV 4.2
	Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.


Multiple Choice Question:
29. “The alley between the buildings was filthy. Tanya’s broom stirred up swirls of dust.”


Which word is an antonym for filthy?

A. empty

B. colorful

C. dirty

D. clean

Commentary:
The multiple choice question asks students to determine the meaning of a word from the selection and then to choose the word from the list that is an antonym for it. An antonym is a word relationship in which one word is the opposite of the other. Answer choice A is incorrect. Tonya noticed the many things in the alley that needed fixing up. Answer choice B is incorrect. There were colors, but they had faded. This is not the clear opposite. Answer choice C is incorrect. Dirty is a synonym for filthy. Answer choice D is correct. The definition of filthy is dirty. The opposite, or antonym, of those words is clean

Performance Data:
The percent of public school students selecting answer choice D for question 29 on the Ohio Grade Four Reading Achievement Test March 2006 was 65%.

Keywords:  Antonym

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
30. How does Tanya get the garden started?

A. With a plastic rose

B. With a wooden box

C. With a red bench

D. With a geranium

Commentary:
This multiple choice question asks students to make meaning by asking and answering questions about the text. Answer choice A is correct. Once the alley is clean, Tanya places the plastic rose in the middle of the alley. Answer choice B is incorrect. Ms. Metoyer brings a long wooden box after the decorating has begun. Answer choice C is incorrect. The red bunch comes the day after the Tanya places the rose. Answer choice D is incorrect. Ms. Jones gives Tanya the geranium after she sees the plastic rose.

Performance Data:
The percent of public school students selecting answer choice A for question 30 on the Ohio Grade Four Reading Achievement Test March 2006 was 90%.

Keywords:  Literal Questions

BACK TO INDEX
	Benchmark:     A
	Describe and analyze the elements of character development.

	GLI:                    LT 4.1
	Describe the thoughts, words and interactions of characters.


Multiple Choice Question:
31. “Gerald admired the garden, too. A twinkle came into his eyes. He smiled a mysterious smile.”


What do these sentences tell us about Gerald?

A. He is bored with the garden.

B. He has an idean for the garden.

C. He thinks the garden is funny.

D. He is happy the mayor is coming.

Commentary:
This multiple choice item asks the reader to make a decision about character traits of Gerald. Answer choice A is incorrect. Gerald looks intrigued by the garden, not bored. Answer choice B is correct. The twinkle in his eye and mysterious smile show that Gerald has an idea of something to do. Answer choice C is incorrect. Gerald’s smile indicates interest, not amusement. Answer choice D is incorrect. None of the neighbors know the mayor is coming; it surprises them all.

Performance Data:
The percent of public school students selecting answer choice B for question 31 on the Ohio Grade Four Reading Achievement Test March 2006 was 86%.

Keywords:  Character, Character Development
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking, and responding to a variety of questions related to text.



	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:
32. Why do so many people help with the garden?

A. They know Tanya is little and needs their help.

B. They want to give away some of their old things

C. They would like to be on television.

D. They like what Tanya is trying to do.

Commentary:
This multiple choice question asks students to use reading comprehension strategies to draw a conclusion based in information in the text. Answer choice A is incorrect.

Everyone is impressed that someone so little can inspire so much change. Answer choice B is incorrect. People were not giving away old things; they were bringing new life to the alley. Answer choice C is incorrect. No one knew the television crew was coming. Answer choice D is correct. Everyone appreciated Tanya’s idea and wanted to do his or her part.

Performance Data:
The percent of public school students selecting answer choice D for question 32 on the Ohio Grade Four Reading Achievement Test March 2006 was 86%.

Keywords:  Using Information

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions and comparisons, using information in text, between text and across subject areas.

	GLI:                            RP 4.5
	Make inferences or draw conclusions about what has been read and support those conclusions with textual evidence.


Short Answer Question:
33. How does Tanya feel about her garden at the end of the selection? Use information from the selection to support your answer.

________________________________________________________________________

________________________________________________________________________

Commentary:
This short answer question asks students to describe how Tanya feels at the end of the selection. Once that is done students are to support that description with information from the selection. This is a reading comprehension strategy that will become critical to students as they read and analyze more difficult texts. 

Performance Data:
The percent of public school students at each score point for question 16 on the March 2006 Ohio Grade 4 Reading Achievement Test was:

	Performance at Each Score Point

	0
	1
	2

	15%
	35%
	48%


Scoring Guidelines
	Points
	Student Response

	2
	Response contains TWO correct answers. Student must include a reasonable feeling and related support.

Examples:

1. Feelings:

· Proud

· Happy

· Good

· Loves garden
2. Support:

· Everyone cheered for her, and she said it was a community garden.

· Because she made/finished the garden

· Because she cleaned a part of the environment.

· Because the neighbors helped/pitched in/worked together.

	1
	Response contains one feeling but inadequate/incorrect support.

	0
	Response is incorrect.


Keywords:  comparison, comprehension

BACK TO INDEX
	Benchmark:     E
	Demonstrate comprehension by inferring themes, patterns and symbols.

	GLI:                 LT 4.5
	Determine the theme and whether it is implied or stated directly.


Multiple Choice Question:
34. What is the theme of this selection?

A. News stories are everywhere.

B. Some things are easy to change

C. Friendships are important to make.

D. One person can make a difference.

Commentary:
This multiple choice question asks students to determine the theme of the reading selection. Theme is defined as a major idea or proposition broad enough to cover the scope of a single literary work. Answer choice A is incorrect. Tanya’s actions led to a news story, but it was not related to the theme of the selection. Answer choice B is incorrect. Tanya and the others did hard work to make the alley look nice again. Answer choice C is incorrect. Tanya had help from many people, not just her friends. Answer choice D is correct. Everyone was motivated to participate because of Tanya’s initial work.

Performance Data:
The percent of public school students selecting answer choice D for question 34 on the Ohio Grade Four Reading Achievement Test March 2006 was 71%.

Keywords:  Theme

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.

	GLI:                   AV 4.1
	Determine the meaning of unknown words by using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question:
35. “Ramon’s teacher, Ms. Metoyer, stopped on her way home from school. ‘Very good, Tanya!’ she said. ‘That’s showing initiative!’”


What does Tanya do that makes Ms. Metoyer say she is showing initiative?

A. Tanya says “Thank you” to Ms. Jones.

B. Tanya starts something new by herself.

C. Tanya looks out of her apartment window.

D. Tanya lets Ms. Metoyer’s class plant seeds

Commentary:
This multiple choice item asks students to determine the meaning of a statement that includes an unfamiliar word. To help them determine that meaning, they are to use context clues, words and phrases that help support the meaning of the word. Answer choice A is incorrect. Tanya’s etiquette had nothing to do with her initiative. Answer choice B is correct. Initiative means someone has taken on or started something new without the help of others. Answer choice C is incorrect. Tonya’s initiative was motivated by her looking out of the window. Answer choice D is incorrect. Tanya was excited that others wanted to put things in the garden – it didn’t have anything to do with her own initiative.

Performance Data:

The percent of public school students selecting answer choice B for question 35 on the Ohio Grade Four Reading Achievement Test March 2006 was 72%.

Keywords:  Context Clues

BACK TO INDEX
Passage:
The Parcel Post Kid
by Michael O. Tunnell

On a cold February morning in 1914, Leonard Mochel arrived for work. He was a railroad postal clerk and rode in the mail car that traveled between Grangeville and Lewiston, Idaho. But on this particular morning, he had more than his lunch with him. Accompanying him was his five-year-old cousin, Charlotte May Pierstorff.

When the postmaster saw May and her small traveling bag, he thought that Leonard was going to buy her a train ticket. Imagine his surprise when Leonard announced that he wanted to mail May to her grandmother in Lewiston!

May’s train fare would have cost $1.55, a lot of money in those days. But May’s parents had discovered that she could be mailed for only 53¢—if the post office would accept May as a package. Leonard thought it was a crazy idea, but he agreed to try.

We would never think of mailing a human being today, but things were different in 1914. For one thing, sending heavy packages by mail was something new, so who could guess what might be allowed? And in 1914, mail was carried in rolling post offices instead of in the bellies of airplanes or the backs of trucks. Postal clerks like Leonard Mochel would sort mail while trains traveled between towns. If May were mailed, she would have her cousin Leonard’s company as well as a safe and comfortable place to ride.

When the postmaster checked his book of rules, he found several things that he could not mail. No poisons. No insects. No reptiles. Nothing that smelled strongly. According to Leonard, the postmaster had a few funny things to say that morning. Maybe he sniffed May, laughed, and declared that she passed the smell test.

Live animals were also forbidden, but the postmaster found that it was all right to send baby chicks by parcel post. So he classified May as a baby chick, weighed her in at 48 
[image: image1.wmf]2

1

 pounds (which may have included her small suitcase), and attached 53¢ in postage to her bag. As well as being “stamped,” May was also “addressed”:

Deliver to Mrs. C. G. Vennigerholz

1156 Twelfth Avenue

Lewiston, Idaho


Leonard helped May into the mail car, and at 7:00 A.M., the train chugged out of the station.


As it jolted and swayed over the tracks, May began to get dizzy. She hurried to the door to get some fresh air. Immediately Harry Morris, the conductor, spotted her and demanded to see May’s ticket. When Leonard explained that May was actually a parcel and showed him the 53¢ in stamps, Mr. Morris laughed. “I’ve seen everything now!” he said. He was certain May’s adventure would make a terrific story for the newspapers.


Traveling about nineteen miles an hour, the train finally reached Lewiston at 11:00 A.M. Grandma Mary was flabbergasted when May appeared on her doorstep. No one had told her that her granddaughter was coming to visit, and delivery by mail was an extra shock!

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question:

1. What is May’s cousin’s job?

A. He writes for the newspaper.

B. He is the conductor.

C. He sorts mail on the train.

D. He is the postmaster.

Commentary:
This question asks students answer a literal question. A literal question has its answer directly stated in the reading selection. Students at the 4th grade level are expected to answer literal, inferential and evaluative questions to demonstrate comprehension according to the Grade 4 Academic Content Standards in English Language Arts. Answer choice A is incorrect. Newspapers are only mentioned in the selection when Mr. Morris, the conductor says that May’s experiences would may a good story for the newspaper. Answer choice B is incorrect. Mr. Morris, not Leonard, is the train conductor who asks to see May’s ticket. Answer choice C is correct. May’s cousin, Leonard is a postal clerk who sorts mail on the train. Answer choice D is incorrect. Leonard asks the postmaster to help him mail May to Grandma Mary.

Performance Data:
The percentage of Grade 4 students that chose answer choice B for question 1 on the Grade 4 Ohio Achievement Test in English Language Arts is 55%.
Keywords:  literal question, demonstrate comprehension
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking, and responding to a variety of questions related to text.



	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Short Answer Question: 

2. Using details from the selection, give two reasons May’s parents decided to send her as a package.

A. ______________________
______________________

B. ______________________
______________________
Commentary:
This question asks students to determine what May’s parents were thinking when they made the decision to mail her to her grandmother’s. Students at the 4th grade level are expected to describe and analyze the elements of character development.

Scoring Guidelines:

	Points
	Rationales

	2 points
	Response contains two correct answers.

Example: It was cheaper.

              She was with an adult.

              May’s cousin worked on the train.

              She would have a safe place to ride.

              She would have a comfortable place to ride.

	1 point
	Response contains one correct answer.

Example:

              (one answer from the list above)

	0 points
	Response is incorrect.


Performance Data:
The percent of Ohio students at each score point for question 2 on the Grade 4 Ohio Achievement Test in English Language Arts is

	Percent at Each Score Point

	0
	
	1
	
	2

	37%
	
	54%
	
	9%


Keywords:  main idea, summary, details

BACK TO INDEX
	Benchmark:     A
	Describe and analyze the elements of character development.

	GLI:                    LT 4.1
	Describe the thoughts, words and interactions of characters.


Multiple Choice Question: 

3. Why do you think the postmaster checked his book of rules?

A. to find the right stamp for May

B. to find what it cost to go to Lewiston

C. to see if May was tall enough to travel

D. to see if he could mail a person

Commentary:
This question asks students to determine why the postmaster acted the way that he did when checking the rule book. Students at the 4th grade level are expected to describe and analyze the elements of character development according to the Grade 4 Ohio Academic Content Standards in English Arts. Answer choice A is incorrect. The postmaster checks his book of rules to see what can and cannot be mailed. Answer choice B is incorrect. The cost of sending May to Lewiston is determined in the same way that the postmaster figures out postage for regular parents. Answer choice C is incorrect. The postmaster weighs May but he does not measure her height. He does not look in his book of rules at this point in the selection. Answer choice D is correct. The postmaster looks in his book of rules when Leonard asks him if the post office can mail May as a parcel. The postmaster checks to make sure that the post office rules (which are in his book) will let him mail a person.

Performance Data:
The percent of public school students selecting answer choice D for question 3 on the May 2007 Grade 4 Reading Achievement was 89%.
Keywords:  character traits, character development
BACK TO INDEX
	Benchmark:     C
	Making meaning through asking and responding to a variety of questions related to text.

	GLI:                    RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question: 

4. How does the conductor know that May is on the train?

A. May goes out to get some fresh air.

B. May’s cousin introduces them.

C. The conductor sees May helping Leonard.

D. The postman introduces May.

Commentary:
This question asks students to select the correct detail that would best answer the question about the conductor and May. Answer choice A is correct. The author directly says that after May feels dizzy, she goes to the door of the mail car to get some fresh air. The conductor sees her then for the first time and asks to see her ticket. This fact is directly stated in the text. Answer choice B is incorrect. May’s cousin speaks to the conductor only after the conductor finds out that May is on the train. The cousin explains why May is on the train, but he does not introduce May to the conductor. Answer choice C is incorrect. May does not help Leonard, and the conductor sees May only after she feels sick and goes to the door of the rail car. Answer choice D is incorrect. The postman who lets May be mailed does not board the train or speak with the conductor.

Performance Data:
The percent of public school students selecting answer choice B for question 4 on the May 2007 Grade 4 Reading Achievement was 82%.

Keywords:  literal question

BACK TO INDEX
	Benchmark:     A

          B
	Use context clues and text structures to determine the meaning of new vocabulary.

Infer word meaning through identification and analysis of analogies and other word relationships.

	GLI:                                        AV 4.2,               AV 4.4
	AV 4.2:     Use context clues to determine the meaning of synonyms, antonyms, homophones, homonyms and homographs.
AV 4.4:     Identify and apply the meaning of the terms synonym, antonym, homophone and homograph.


Multiple Choice Question: 

5. Live animals were also forbidden, but the postmaster found that it was all right to send baby chicks by parcel post. So he classified May as a baby chick, weighed her in at 48 ½ pounds (which may have included her small suitcase), and attached 53¢ postage to her bag.

Which word is a synonym for classified?

A. stamped

B. mailed

C. added

D. labeled

Commentary:
In this question, students need to choose a synonym, or word that shares the same meaning, for the word classified. Students at the 4th grade level are expected to apply the meaning of synonyms and antonyms according to the Grade 4 Academic Content Standards in English Language Arts. Answer choice A is incorrect. The postmaster puts postage on May’s bag not on May herself. Answer choice B is incorrect. This is a description of one of the things that happened at the post office; however, this word is not synonymous with classified. Answer choice C is incorrect. Added reflects the concept that May was an extra to be included with someone else. This word is not synonymous with classified. Answer choice D is correct. The word classified, in this sentence means that the postmaster put May in a certain category. To label is the same as to classify.

Performance Data:

The percent of public school students selecting answer choice D for question 5 on the May 2007 Grade 4 Reading Achievement was 65%.

Keywords:  synonym, word relationships 

BACK TO INDEX
	Benchmark:     A
	Use context clues and text structures to determine the meaning of new vocabulary.



	GLI:                   AV 4.1
	Determine the meaning of unknown words by using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question: 

6. Traveling about nineteen miles an hour, the train finally reached Lewiston at 11:00 A.M. Grandma Mary was flabbergasted when May appeared on her doorstep. No one had told her that her granddaughter was coming to visit, and delivery by mail was an extra shock!

What does the word flabbergasted mean in the sentence above?

A. tired

B. surprised

C. worried

D. happy

Commentary:
In this question students need to use what they know about denotation (a word’s direct, or explicit, meaning) and connotation (implied ideas or meaning linked to a word) to learn the meaning of the word. Students at the 4th grade level are expected to recognize the difference between the meanings of connotation and denotation according to the Grade 4 Ohio Academic Content Standards in English Language Arts. Answer choice A is incorrect. There is no clue given that shows Grandma Mary as being tired when she sees May at the door. Answer choice B is correct. These sentences give two examples of how Grandma Mary reacts when she sees May. She is surprised and shocked to see May delivered by mail. Answer choice C is incorrect. There is nothing in the given information that shows Grandma Mary is worried, or concerned, about seeing her granddaughter. Answer choice D is incorrect. Though Grandma Mary might be happy about seeing May, the sentences do not give any information that reflects this happiness. 

Performance Data:
The percent of public school students selecting answer choice B for question 6 on the May 2007 Grade 4 Reading Achievement was 93%.

Keywords:  connotation, denotation
BACK TO INDEX
Passage:

The Man Who Had No Dream

By Adelaide Holl

Mr. Oliver was the richest man in town.

All day long he sat at his window and watched everyone else work hard for a living. Mr. Oliver didn’t have to work. He had so much money he could buy anything he wanted.

Every evening Mr. Oliver sat at his window and waited for people to come home from work. Tired after a busy day, the townsfolk rested and looked out at the stars and the moon and the night. But not for long. They were too yawny and drowsy and sleepy from working so hard.

Soon they all went to bed and fell fast asleep. After a while, Mr. Oliver went to bed, too. But he didn’t fall fast asleep. He just lay tossing and turning on his find bed.

The weary workers quickly drifted off to the land of dreams.

They dreamed happy dreams made of wishes and hopes. They dreamed unhappy dreams made of fears and tears.

But Mr. Oliver couldn’t sleep because he wasn’t tired. And he couldn’t dream because he had nothing to dream about—no wishes, no hopes, no fears, no tears.

Night after night, he tried sleeping in different beds—each one more beautiful than the last.

Night after night, he walked back and forth, back and forth. Still he couldn’t sleep, and he couldn’t dream. He just waited for morning to come so he could go back to his window and watch everyone else work hard for a living.

One night, when Mr. Oliver was very wide awake and very much alone, he heard a noise at his window. He went to look. He found a little hurt bird that had fluttered and fallen on his windowsill.

“Poor little thing,” Mr. Oliver said sadly. “The city is no place for birds.”

He lifted the little bird very gently and carried it inside. He put it to bed on a silk cushion. He fed it milk from a silver spoon. Carefully he bandaged its hurt wing.

Mr. Oliver worked and worked. At last—tired and yawny and drowsy and sleepy—he fell asleep with the little bird in his arms. And while Mr. Oliver slept, something quite wonderful happened.

Mr. Oliver began to dream!

He dreamed there was a place in the city meant just for birds. He dreamed about a park for birds—with flowers and birdbaths and trees.

The next morning, bright and early, Mr. Oliver hurried outdoors, and for the first time in his life, he began to work. He spaded and raked and planted and watered. He built a beautiful park all planted with leafy trees and bright flowers. People and laughing children came there to romp and play and picnic on the grassy hills.

From that day on, Mr. Oliver never had trouble going to sleep. And he never slept without a dream. Mr. Oliver was a happy, busy man—a man with wishes and hopes and fears and tears.

BACK TO INDEX
	Benchmark:     E
	 Demonstrate comprehension by inferring themes, patterns and symbols.

	GLI:                            LT 4.5
	Determine the theme and whether it is implied or stated directly.


Multiple Choice Question: 

1. Which theme is expressed in this selection?
A. Hard work brings satisfaction.

B. Hurrying makes it hard to do things well.

C. Adults can learn many things from children.

D. Spending time by yourself can be enjoyable.

Commentary:
This multiple choice question asks students to select the theme of the selection from the given choices. A theme is a major idea broad enough to cover an entire literary work. Answer choice A is correct. Once Mr. Oliver began to work on the park, he found that he could fall asleep and dream with greater ease. Answer choice B is incorrect. While Mr. Oliver works hard to create a park where families and birds can gather, he does not show evidence of hurrying. Answer choice C is incorrect. There is nothing in the selection to indicate that Mr. Oliver needed to learn how to listen to and learn from children. Answer choice D is incorrect. This statement is not reflected in the overall meaning of the selection. Mr. Oliver was lonely because he had been spending his time alone.

Performance Data:

The percent of public school students selecting answer choice A for question 1 on the May 2008 Grade 4 Reading Achievement Test was 88%.

Keywords:  theme

BACK TO INDEX
	Benchmark:     D
	Differentiate between points of view in narrative text.

	GLI:                            LT 4.4
	Identify the speaker and recognize the difference between first- and third-person narration.


Multiple Choice Question: 

2. Who is telling this story?
A. Mr. Oliver

B. a narrator who is not one of the characters

C. one of the townsfolk who works near Mr. Oliver

D. a narrator who plays and picnics in the grassy park

Commentary:
This question asks students to determine the point of view, or position, from which this story is told. Answer choice A is incorrect. The story is not told in the first person. Mr. Oliver is not the narrator or telling the story himself. Answer choice B is correct. The narrator is one who know what Mr. Oliver feels and thinks, yet stands outside of the story. Answer choice C is incorrect. None of the townspeople are telling this story. Answer choice D is incorrect. The narrator is not a person that is playing in the park once it has been built.

Performance Data:

The percent of public school students selecting answer choice B for question 2 on the May 2008 Grade 4 Reading Achievement Test was 90%.

Keywords:  point of view, third-person point of view

BACK TO INDEX
	Benchmark:     C
	Make meaning through asking and responding to a variety of questions related to text.

	GLI:                                   RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question: 

3. Why are the workers in this town able to dream?
A. They do not sleep deeply.

B. They have wishes and fears.

C. They go to bed late each night.

D. They have large comfortable beds.

Commentary:
This question asks students to answer an inferential question. Students are making an inference when they give an answer that is implied, but not directly stated in the text. Answer choice A is incorrect. The story implies that the workers do sleep deeply, which leads them to their dreams. Answer choice B is correct. The workers had full lives and had things that they could dream about. Answer choice C is incorrect. There is no information about the time that the workers go to bed. Answer choice D is incorrect. The type or style of bed is not what caused the workers to dream.

Performance Data:

The percent of public school students selecting answer choice B for question 3 on the May 2008 Grade 4 Reading Achievement Test was 85%.

Keywords:  inferential question
BACK TO INDEX
	Benchmark:     C
	Make meaning through asking, and responding to a variety of questions related to text.



	GLI:                                   RP 4.7
	Answer literal, inferential and evaluative questions to demonstrate comprehension of grade-appropriate print texts and electronic and visual media.


Multiple Choice Question: 

4. Before building the park, how does Mr. Oliver try to solve his problem of sleeplessness?
A. by sleeping in different beds

B. by walking through the city

C. by resting in his garden

D. by listening to the birds

Commentary:
This question asks students to demonstrate their comprehension of the text by drawing a conclusion about Mr. Oliver. Answer choice A is correct. The selection states, “Night after night, he tried sleeping in different beds.” Answer choice B is incorrect. Mr. Oliver watches others walk through the city, but does not do so himself. Answer choice C is incorrect. Nothing in the selection suggests that Mr. Oliver rests in or has a garden. Answer choice D is incorrect. Mr. Oliver befriends a single bird, but does not listen to birds as a way of getting to sleep.

Performance Data:

The percent of public school students selecting answer choice A for question 4 on the May 2008 Grade 4 Reading Achievement Test was 84%.

Keywords:  drawing conclusions

BACK TO INDEX
	Benchmark:     A
	Use context clues to determine the meaning of new vocabulary.

	GLI:                                   AV 4.1
	Determine the meaning of unknown words by using a variety of context clues, including word, sentence and paragraph clues.


Multiple Choice Question: 

5. “The next morning, bright and early, Mr. Oliver hurried outdoors, and fir the first time in his life, he began to work. He spaded and raked and planted and watered.”

What is the meaning of spaded in the second sentence above?

A. ran

B. dug

C. rested

D. studied

Commentary:
This question asks students to answer determine the meaning of a word based on the context in which appears. In this instance the context of the word spaded includes other words connected to gardening; raked, planted and watered. Answer choice A is incorrect. Mr. Oliver is not running while he is doing the gardening work. Answer choice B is correct. Mr. Oliver is working on creating a park and performs gardening tasks. Dug or spaded is a necessary step in this process. Answer choice C is incorrect. Mr. Oliver is working, or spading, not resting. Answer choice D is incorrect. Mr. Oliver is not studying anything as he works to create the park.

Performance Data:

The percent of public school students selecting answer choice B for question 5 on the May 2008 Grade 4 Reading Achievement Test was 87%.

Keywords:  context clues, vocabulary

BACK TO INDEX
	Benchmark:     B
	Apply effective reading comprehension strategies, including summarizing and making predictions comparisons, using information in text, between text and across subject areas.

	GLI:                            LT 4.5
	Determine the theme and whether it is implied or stated directly.


Short Answer Question: 

6. Mr. Oliver leans that doing work can have positive Performance Data.

Support this conclusion with two details from the selection.

a. 



b. 



Commentary:
This short answer question asks students to provide two details that support this summary statement. The details must be directly connected to the positive Performance Data that Mr. Oliver felt as a result of the work he did in getting the park ready.

Scoring Guidelines

	Points
	Student Response

	2
	Points awarded for a complete and accurate statement.

Responses include two details that support the conclusion. Examples:

1. working can keep people from being lonely

2. working makes people feel good

3. people come to the park and enjoy being there

4. hard work helps people sleep well at night

5. After he starts working, Mr. Oliver sleeps well and/or dreams.

6. When Mr. Oliver starts to work, he is a happy, busy man.

Unacceptable example:

· Mr. Oliver leans that hard work can lead to wonderful Performance Data. (too vague)

	1
	Pont awarded for a partially complete or somewhat inaccurate statement.

Response includes one details that supports the conclusion with a missing or incorrect detail.

	0
	No point awarded if a statement is non-existent or completely inaccurate.

Response does not contain the correct reasons listed above, is incomplete, irrelevant, shows no understanding of the task or is blank.




Performance Data:

The percent of public school students at each score point for question 6 on the May 2008 Grade 4 Reading Achievement Test was
	Percent at Each Score Point


       0
     1
  2


31%

     42%

27%


Keywords:  details, support, summary statement 
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